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QUESTION 1

Given the following: Which of the following occurs automatically when rows are deleted from POLICY_INFO_AET? 

A. The deleted rows are moved from POLICY_INFO_AET table to POLICY_INFO_ARC table 

B. The logically deleted rows are removed from POLICY_INFO_ARC table during the REORG 

C. The deleted rows are removed from both POLICY_INFO_AET and POLICY_INFO_ARC tables 

D. The deleted rows are moved from POLICY_INFO_AET table to POLICY_INFO_ARC table during the REORG 

Correct Answer: D 

 

QUESTION 2

Which of the following coupling facility structures are used by DB2 in a data sharing environment? 

A. List structure, DB2 logs, and group buffer pools 

B. Work file database, list structure, and virtual buffer pools 

C. Lock structure, shared communications area, and group buffer pools 

D. Lock structure, shared communications area, and bootstrap data sets 

Correct Answer: C 

Reference: https://www.google.com/url? sa=tandrct=jandq=andesrc=sandsource=webandcd=3andved=2ahUKEwikgLD
R8PjAhXVShUIHRDyAjMQFjACegQIBBACandurl=https%3A%2F%2Fshare.confex.com%2Fshare%2F116%
2Fwebprogram%2FHandout %2FSession8629%
2FSetting_up_DB2_data_sharing_the_easy_way.pdfandusg=AOvVaw3ltuSTxQJGT7jqxb8ZY-aq (15) 
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QUESTION 3

Assuming column hire date is a DATE data type, which SQL statement will retrieve the maximum salary (salary) and
minimum salary(salary) for each job(job) from EMPLOYEE table for those hired(hiredate) before 1965? 

A. B. C. D. 

Correct Answer: D 

 

 

QUESTION 4

Which of the following SQL constructs does NOT provide information about the success or failure of the SQL statement
that was just executed? 

A. SQLCA 

B. SQLDA 

C. SQLCODE 
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D. SQLSTATE 

Correct Answer: B 

 

QUESTION 5

You want to see all messages that were generated by one specific DB2 subsystem such as log switches and timeout
messages. Which job log would show all of these? 

A. MSTR 

B. DBM1 

C. DIST 

D. IRLM 

Correct Answer: A 
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